
Installation Guide
 SYM-UR-CM

www.premiermounts.com  |  North America  800.368.9700  | International +1-714-632-7100 Page 1

INCLUDES:

9500349 v1.0
publ. 02/25/20 

x2
M10 Lock Nut

x2 x4
M10 Washer

x1
Ceiling Plate

x4
M8 x 12mm Set 

Screw

x4
M8 x 25mm Flat 

Socket
M10 x 45mm 

Hex Bolt

x1
Adjustment 

Plate

Remove the side strips from the extrusion upright bar.

(4) M8 x 25mm 
Flat Socket

1

3

5

2

4

6

M10 Lock Nut

M10 Washer

M10 x 45mm 
Hex Bolt

(4) M8 x 12mm 
Set Screw

 side strips after bolting to the ceiling plate

Secure the Ceiling Plate to the ceiling using commercially 
available hardware.

If the ceiling is not leveled, install the M8 x 12mm set 
screws to finalize leveling adjustment

Leveling


